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Question 1.Select the related word/letters/number from the given alternatives.
e o faremenl & @ Hafeer eree/ sweRi/dear A 9T
Grain : Warehouse :: Water ?

3TATST : IMNET:: STl & ?

Options:
1) Canal
AR

2) River
Fér

3) Estuary
QE'IHT

4) Dam
qrer

Correct Answer: Dam
e

Candidate Answer: Dam
qier

Question 2.Select the related word/letters/number from the given alternatives.
&3 T fashol & O TefetreT Qse/37&RT/HEdT Y YiAT|

ADFG : KNPQ :: DGIJ : ?

Options:

1) NORS

2) NPQS

3) NQST

4) NQTU
Correct Answer: NQST
Candidate Answer: NQST

Question 3.Select the related word/letters/number from the given alternatives.
&3 7 ool & & Hafetra 2ree) 3Ri/dedr &1 giav|

12:144:: 7

Options:

1) 10: 40

2)15: 125

3) 20 : 400

4) 22 : 464
Correct Answer: 20 : 400
Candidate Answer: 20 : 400

Question 4.

For the following questions
Find the odd word/letters/numbers pair from the given alternatives.
fer o et & & fwe ereey srery/dEaT 39 9w
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Options:

1) Peninsula
AT

2) Island

4.
w
o
Q

<

4) Cape

|

Correct Answer: Bay

8

Candidate Answer: Bay

8

Question 5.

For the following questions

Find the odd word/letters/numbers pair from the given alternatives.

fedr a2 famenit & & ey ereey srewy/weaT 3o 9w
Options:

1) Tomato

THTX

2) Potato

3o

3) Carrot

M

4) Radish

Helr

Correct Answer: Tomato
THRY

Candidate Answer: Tomato
THRY

Question 6.

For the following questions

Find the odd word/letters/numbers pair from the given alternatives.

&3 71 Taeheat &1 & fawe erse/ 3raR/aEdT Z7a gfav|

Options:
1)41-72

2)12-30
3) 51-42

4)11-20
Correct Answer: 41 - 72
Candidate Answer: 41 - 72

Question 7.Which one of the following words will appear third in the dictionary?

TrFATaTEd [aehedl 37 & PieT-HT g ASEHIT H AR TUTT I 3T ?

Options:
1) Immutable

2) Immigrate
3) Imperative

4) Impassioned
Correct Answer: Impassioned
Candidate Answer: Impassioned
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Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

Teefalere weat & veh 3feTsha fem aram &, foradl weh ue ofed €1 v a1v faehedt & w8 fashed AT Sit 31egshar il QU |
Bl FI KI QI ?

Options:

1) X

2)R

3)T

4)Y
Correct Answer: X
Candidate Answer: X

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

Tee=folere veat & ueh 31egshe fem aram &, foreat weh e ofed €1 fow a1v faehedt & 6 fashed giaw Si 3regshar il QU |
5,9,13,17,2,25

Options:

1)27

2)23

3)21

4) 19
Correct Answer: 21
Candidate Answer: 21

Question 10.A shepherd had 17 sheep. All but eight died. How many was he left with?

Teh TATR & I 17 A3 | 37 & 3776 &l S5 Td 7 TS| 319 3T UTF fhcdell s I & 2

Options:
1)17

2)0
3)8

4)9
Correct Answer: 8
Candidate Answer: 8

Question 11.The sum of present age of father and his son is 60 yrs. Six years ago, father's age was five times the age of the son. After 6 years, son's age will be?

T T 3R 38 G T oot 3T 60 Y §1 6 A Tgel [T hT 3G G 1 AR T 5 97 | 6 a a1, 7 &1 311 41 g1l 2

Options:
1) 45

2) 25
3)20

4) 33
Correct Answer: 20
Candidate Answer: 20

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word :

feefolEd fashedl & @ g ese AT S QT 1T 2se o 37T 7 T ek oTe] AT ST HebT|
"EXAMINATION"

Options:

1) NATION

2) EXAM

3) MENTION

4) AMBITION
Correct Answer: AMBITION
Candidate Answer: AMBITION

Question 13.In certain code, if '"AMOUNT! is written as 'BNPTMS', how is 'AROUND' written in that code?

e T 15 3 'AMOUNT' &I 'BNPTMS' foraa €, daf 33T &g 7 'AROUND' &t &7 forgiat ?
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Options:
1) BSPUNT

2) BSUPTN
3) BSPTMC

4) ZSPVOE
Correct Answer: BSPTMC
Candidate Answer: BSPTMC

Question 14.If 5x 4 x 0 = 405
3x2x8 =283
then1x7x6=7

I 5 x4 x 0 =405
3x2x8 =283
A1x7x6=?

Options:
1) 617

2) 716
3) 167

4) 761
Correct Answer: 761
Candidate Answer: 761

Question 15.I1f 56 x 11 =9, 37 x 13 = 6, 42 x 12 = 3, then find the value of 87 x 77.

IfE56 x 11 =9,37 x 13 = 6, 42 x 12 = 3, A 87 x 77 HT AL S|

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: 1

Question 16.Select the missing number from the given responses :

8w 1T faehodt & & oo @& 7T HifoIT |

42 95 f

Options:
1) 60

2) 58
3) 65

4)72
Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]

Question 17.Vijey walks 10 meters westward, then turns left and walks 10 meters. He then again turns left and walks 10 meters. He takes a 45 degree turn
rightwards and walks straight. In which direction is he walking now?

Tarrer 10 it giRe 1 3R =Tefell 8, 3 TR a1¢ Ho 10 A =Tefalr 81 @ R 10 F3ar § 3R 10 2, =erar §1 a8 45 T390 ¢ gaan § 3 dren =i §1 319 a5 e femr

HAT@E?
Options:

1) South
A

2) West
qi¥aH

3) South East
CRLECH

4) South West
gfator-aigas
Correct Answer: South West

grauT-afRaH
http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzA=&appid=1a4fff78943b24af40c79deccf09bb87
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Candidate Answer: South East

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement:

I. All that glitters is not gold

I1. Sujatha wears a gold ornament

Conclusion:

I) Sujatha's ornament glitters

II) Sujatha's ornaments do not glitter

rfaf@d uea & e IT &) aoFdey o I §, Torash 3mer &) fAserd/Aeaang, 1 3R 11 el 33 €1 3T faR o1 § & aorded Ocy & 918 98 TAegd: od azai &
Rt Tl g1aT gl 3Rt fAvTe et § & Rju 910 aardea F & Fia-a1 AfRad &7 3 T8 Ssas/aAeaar Sl S Thar € ?

YT :

. T8l wehcll g <ol |t =TeT §1

I1. oI T Hiel T G Tet §T L

[GA=aH

L. G & 9181 =Hehel &

1. ST % 3Tge 6T Tohel ¢

Options:
1) Only Conclusion I follows

el forseny [ T8 &1

2) Only Conclusion II follows
aherer forseny 11 WY &1

3) Both Conclusions I & II follow
sy 1 3R 11 =t wél &
4) Niether Conclusion I nor II follows

arar ey 1w g AR AT ST I wer

Correct Answer: Niether Conclusion I nor II follows

arar ey I adr g AR AT 1 T gl

Candidate Answer: Only Conclusion I follows

Fad sy [ gd 2l

Question 19.Find the number of triangles in the given figure

& 1S 3Ty 3 Recey R 2

Options:
1) 11

2) 12
3) 13

4) 14
Correct Answer: 13
Candidate Answer: 13

Question 20.In the following figure, circle represents Graduates, triangle represents Sub-Inspector of Police, and parallelogram represents Women. Then, which
number space represents Women Graduate and Sub-Inspector of Police?

Aol weat 31 & 915 Jmapfer 31 oo, Torcrant ht qRifaT &, Fe7et gferr 37 fordieres i 31wy agelsT Afgenslt 1 arffar 81 ot ieT - i Hear 307 Afensit & i €,
S T AR 37 - AdeTw § ?
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Options:
1)2

2)5
3)7

4)6
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]

Question 21.Which answer figure will complete the pattern in the question figure?

FHleA-T Scc-HHA FeT-FTHA & YT I G & ?

P
5 P
4
N sl
pvj
Options:
1)
o e
1 T
@
I .HE{ _EJ
2)
1A
3)
o ':
1 I
%7
R
4)
©
‘L
Correct Answer:
IR
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Candidate Answer:

s LA

Question 22.From the given answer figures, select the one in which the question figure is hidden / embedded.

el fashedl & @ 38 Sca” 3Mpfcl 1 giaw forwet v 3mepfar fAfed gl

Options:
1)

3)

4y

Correct Answer:
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Candidate Answer:

Question 23.A piece of paper is folded and cut, as shown below in the question figures. Front the given answer figures, indicate how it will appear when opened.

I foelt hrarer 1 e fow a7w oy 3 31eTAR FSa 1T ST A Tielet & 916 I8 fond i S @S &am ?

L

Options:
.
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

IfE T GIOT H MN @7 O T@T 1T AT & 718 Sea] HHiaal 7  HleT-r 3pia weef e 1 @ sfafass giefr ?

M N

XX

AO
Options:
1)
i AO
WX X

3)
v QO
KX

a9

Al
XX

Correct Answer:

N O
X

&

Candidate Answer:

N O
X

&
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Question 25.In the question, a word is represented by only one set of humbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'A’ can be represented by 04, 12, etc. and 'N' can
be represented by 57, 69 etc. You have to identify the set for the word 'ROAD'.

T uest # et  Row a1v Fear-vg, 38R & & F91t gan a=ffe o1¢ §, S fo e fow a1w 2 3megh 4 €1 3meg 1 & e 3R dffd M aeam 0 a4 a& &
TS E, RIS L1 & 58 9 A, 3T 3TehGT § T 38R T Tgol 3T Utard IR TG 3 T TEAT GaNT G2MAT ST HehelT 1 36T & folT 'A' T 04, 12 FTTE @R g=im
ST HRAT §, TUT'N' &Y 57, 69 SIRT &R ST HehelT & | X g & HTIH 4T gV 2foq; 'ROAD' & T Hg Y TgalleteT &1

MATRIX-I MATRIX-II

el T=TsTa|[TFTe T3

a B Cc (8] E A 5 R o N T u

1 D E A B C L] T u R (=] N

2 c o E & B 7 o M T u R

3 A B C 1] E ] u R (4] N T

4 E A B c D a M T u R (5]
Options:

1) 67, 87, 23, 43
2) 86, 75, 24, 33
3) 79, 99, 41, 42

4) 86, 56, 23, 33
Correct Answer: 86, 56, 23, 33
Candidate Answer: 86, 56, 23, 33

Question 26.'Capital gains’ refers to goods which

\GMITC oIS T Tl o HIaAleT W g ?

Options:

1) serve as a source of raising further capital

S gl B 3R g @ e A € |

2) help in the further production of goods

ST FART & 3R 317 3cuTesT H HERF g ¢

3) directly go into the satisfaction of human wants
ST S T AT BT T T F e FA &

4) find multiple uses

S [afaer gt & @t £

Correct Answer: help in the further production of goods
S T & 3R 31 Scures 7 TEE Bl &1

Candidate Answer: [ NOT ANSWERED ]

Question 27.The President can dismiss a member of the Council of Ministers

el ARTRYE & e i $8 TETET F 6 8?7
Options:

1) with the consent of the Speaker

CeREeT 3TEaT d HgAfa &

2) only under emergency conditions

Jmard Refaat &

3) on the recommendation of the Prime Minister
JTTHAT T FAwIRET R

4) on his own

AT E AR

Correct Answer: on the recommendation of the Prime Minister
JYTTHAT T FAwIRET X

Candidate Answer: with the consent of the Speaker
FRHTHT ITTET I TgAfa T

Question 28.Securities and Exchange Board of India is a

RFRErsT Tus v 13 3w sPsar Far g ?
Options:

1) Quasi Judicial body

FAR S JrET

2) Regulatory Body

TRt St

3) Advisory Body

el ST

4) Consititutional Body

et arar

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzA=&appid=1a4fff78943b24af40c79deccf09bb87 10/28
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Correct Answer: Regulatory Body
i?ﬁt?r EIEl

Candidate Answer: Advisory Body
HellgehR S18Y

Question 29.Vikram Shila University was founded by

TasmAfIer faeafaeame & FeuHes &id & ?
Options:

1) Chandra Gupta Maurya
e A

2) Kanishka

Hicseh

3) Dharampala

eI

4) Pulakesin II

QofhfRIeT 11

Correct Answer: Dharampala

B

Candidate Answer: Kanishka

Fiassh

Question 30.The tree species most commonly used in social forestry is

FAST-TTADT 7 TIFT FIAARE J&T STl FAT 8 ?
Options:

1) Peepal

dier

2) Gulmohar

TR

3) Eucalyptus

Fehfoced

4) Mango

3mH

Correct Answer: Eucalyptus

Trfoced

Candidate Answer: Peepal
fioer

Question 31.The most productive ecosystem in the biosphere is

FTaTeReT # T fohamier mikfeufad a Fla-ar g ?
Options:

1) Desert

e

2) Open Ocean

el &5

3) Estuary

ST (TE)

4) Tundra

el

Correct Answer: Estuary

ST (TE)

Candidate Answer: Open Ocean
Gell |og

Question 32.What type of force acts on a car moving around a curve?

T3hE JATeRR a5k AT U g dTell I O FoRH TR 6T el &1 &L § ?
Options:

1) Centrifugal force

3TTeEY ol

2) Cohesive force

T af

3) Centripetal force

3G e

4) Gravitational force

TECATEHYT Sl

Correct Answer: Centripetal force
31fFehar st

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzA=&appid=1a4fff78943b24af40c79deccf09bb87 11/28
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Question 33.Which phenomenon is responsible for the echo of sound wave?

eafer ot & 3fst forw ler-ar RoT fer glar & 2
Options:

1) Reflection

R

2) Refraction

g

3) Interference

sgfaeoT

4) Polarisation

BeicTul

-]
Correct Answer: Reflection

RIF

Candidate Answer: Polarisation

BrEicaul

<)

Question 34.In the following list of devices, which device is used in datalink layer?

Arfaf@d Feat Hr = 7 sierfeie o # o Io= 1 w2 fohar S § ?
Options:

1) Repeaters

Refrex

2) Routers

{3

3) Application gateway

TCelher e O

4) Bridge

foer

Correct Answer: Bridge
st

Candidate Answer: Routers
A3

Question 35.Which of the metals has the maximum thermal conductivity?

TerATaTed o & fohe a1q 31 HTRIhcTaT 19 ATeiehdl gl & ?
Options:

1) Iron

T

2) Aluminium

o EiE e E

9
3) Silver

.

5

4) Copper

GIEL

Correct Answer: Silver

£

Candidate Answer: Aluminium

ToAfATE

)

Question 36.Who is the author of Meghdoot?

AEIG T AGF HiA § ?
Options:

1) Shundraka

Heareht

2) Vishakhadatta
faemTeea

3) Kalidasa

Fforer

4) Chanakya

ATOTRT

Correct Answer: Kalidasa

FforerT
Candidate Answer: [ NOT ANSWERED ]

Question 37.0ne of the best solutions to get rid of non-biodegradable waste is

3Told THAUNT FER (FAlA-aAIZIST ) & AT ST Fafedsr alr T g ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzA=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) Burning
STefTeT

2) Dumping
R AT

3) Burying
SWhaTTalT

4) Recycling
JeAdehoT

2
Correct Answer: Recycling

eshoT

2
Candidate Answer: Recycling

JeshoT

k)

Question 38.The Sharda Act is related to

eRer JifafaTH o greey fFaa € ?
Options:

1) Upliftment of scheduled tribes
TG STeSicral &l et

2) Upliftment of minorities
HAEEIHI T 3T

3) Child Marriage

CIGREEIR

4) Empowerment of women
Al 1 TRIFTHOT

Correct Answer: Child Marriage

EICACEIR

Candidate Answer: Empowerment of women

AR 1 FUfFAHRIOT

Question 39.1n the battle of Panipat, Babar faced the armies of

AT & 88 &, ST6T o fREhr ST T T e 21?

Options:

1) Jaichand

STdeq

2) Hemu

i

3) Daulat khan

e @

4) Ibrahim Lodi

EClRGCC

Correct Answer: Ibrahim Lodi
BTG eIy

Candidate Answer: Ibrahim Lodi
EEUEECICy

Question 40."Smart Money" term is used for

“Smart Money" 2Teg; fFae: T TN BT § ?
Options:

1) Credit Card

Hi3c 1S

2) Internet Banking

Seelae SfeheT

3) eBanking

S-fear

4) Cash with Public

1 fag afses

Correct Answer: Credit Card

HisT FS

Candidate Answer: Credit Card
Fisc FE

Staff Selection Commision

Question 41.Malala Yousafzai and Kailash Satyarthi were jointly presented with which award?

Hellell JGWors 3 Sholrer Fcardl ot Ty &7 & ey & 37d1S F w7dreT arar a7 ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzA=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) Magsaysay Award
H 3raS
2) Nobel Peace Prize
A T Ao GRERR
3) Gandhi Peace Prize
e Qe PR
4) Jawaharlal Nehru Award for International Understanding
FRIET st & fAIT ST areT 7g® qErr
Correct Answer: Nobel Peace Prize
e T Ao RERR

Candidate Answer: Magsaysay Award

AN 37aTS

Question 42.Warming Ammonium chloride with sodium hydrochloride in a test tube is an example of

T S TS H AT FeRISS F T WSTH FRESIFaNISS Pl IR Tl [oheehT SEe0T & ?
Options:

1) Open system

Gell dd

2) Closed system

§oq ded

3) Isobaric system

FHCTE REeH

4) Isothermal system

FHAT fRAEeH

Correct Answer: Open system

Gell dF

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which of the following is the cleanest source of energy?

AFATET 7 & Tacodd el ol ad #T8 ?
Options:

1) Biofuel

S ST

2) Fossil fuel

T SereT

3) Nuclear power

Tt e

4) Wind energy

qae Feil

Correct Answer: Wind energy

qae Feil

Candidate Answer: Wind energy
qae ST

Question 44.The first woman of Indian origin who undertook a space journey

T RET AT e aTol TRATT e T T Afgelr hiet of ?
Options:

1) Sunita Williams

e faforareT

2) Kalpana Chawla

ST araell

3) Darshan Ranganath

R T

4) Avani Chaturvedi

3T TG

Correct Answer: Kalpana Chawla
Tl ATl

Candidate Answer: Kalpana Chawla
Tl Iraell

Question 45.Male mosquitoes take their food from

A FTS AYAT HISTeT gl T TGUT el ¢ ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzA=&appid=1a4fff78943b24af40c79deccf09bb87 14/28
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Options:
1) human blood
T T
2) standing water
T gU AR A
3) sap of plants
qiet & @
4) dung and debris
aMeR T FBT-HERT
Correct Answer: sap of plants
qiet & @
Candidate Answer: sap of plants
qiet & @

Question 46.The range that acts as watershed between India and Turkistan is

AR 3R ATt & v STor-fremsTes &7 i Tt arel 9ad & (39) FieT-aW g ?
Options:

1) Zaskar

SITERT

2) Kailash

Semer

3) Karakoram

FRARA

4) Ladakh

R

Correct Answer: Karakoram

FRIPRA

Candidate Answer: Karakoram

FRIORA

Question 47.Kolattam and Chholiya are the dance forms of which of the two States

Frered 3R Bifer e AT vy & Tt A gt © 2
Options:

1) Kerala and Karnataka

T 3T Fedlen

2) Andhra Pradesh and Uttar Pradesh

T 9GRT 3R SeaT wewr

3) Tamil Nadu and Madhya Pradesh

affer g 3R e ggr

4) Karnataka and Bihar

FaAtea 3T foer

Correct Answer: Andhra Pradesh and Uttar Pradesh
3T TR 3R 3eay wewr

Candidate Answer: Andhra Pradesh and Uttar Pradesh
3T 9SRT 3R 3edT veRr

Question 48.Which parliamentary committee in India is normally chaired by a prominent member of the opposition?

AR # forg G T T AT 3EFETAT fa9eT & THE Hekd SaRT & S § ?

Options:

1) Committee on Government Assurances
TR 3TearaT Tadr gEfa

2) Estimates Committee

gTerhele T

3) Privileges Committee

AwfEsR aH it

4) Public Accounts Committee

dish or@r I

Correct Answer: Public Accounts Committee

e oi@T Tl
Candidate Answer: [ NOT ANSWERED ]

Question 49.The specific role of Vitamin K is in the synthesis of

et ‘&' S fafRIse 31fAeT faneich FReNoT # § ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzA=&appid=1a4fff78943b24af40c79deccf09bb87 15/28
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Options:

1) Albumin

TosgiaT

2) Antibodies

gicatr

3) Globulin

Tofisg ol

4) Prothrombin

Eleie=c)

Correct Answer: Prothrombin

IRNfFeT
Candidate Answer: [ NOT ANSWERED ]

Question 50.From the national point of view, which of the following indicates micro approach?

Ted gfSeanror ¥, ferfaf@a 7 @ Hla-ar gaa efeeator g 2
Options:

1) Study of sales of mobile phones by BSNL

. 0H.TA. U SaRT ATl WAt hr Foshr T 3reaeT

2) Unemployement among Women

A3t 3 RrereTr

3) Per capita income in India

aRa 7 ufa safea 3ma

4) Inflation in India

AR # Hor wRfe

Correct Answer: Study of sales of mobile phones by BSNL
1. 0. U, U GaRT ATl Wil T Tshl T 3reaet

Candidate Answer: [ NOT ANSWERED ]

Question 51.A can do a piece of work in 10 days, B can do it in 12 days and C can do it in 15 days. In how many days will A, B and C finish it, working all together?

A T8 & 1 10 TGt 7 AT §, B 38 19 1 12 T 31 e § 3R C 38 A &1 15 &t F Far 51 A, B 3R C oAt e 36 w9 &1 fvdet feet 3 qur adar 2
Options:

1) 6 days

6 faeT

2) 51/, days

51/4ﬁ;|'

3) 4%/1; days

4%y o

4) 4 days

4

Correct Answer: 4 days
4

Candidate Answer: 4 days
4%

Question 52.1If the volumes of two right circular cones are in the ratio 1:4 and their diameters of bases in the ratio 4:5, then their heights will be in the ratio:

I &) o g QA3 & AT 1:4 % AT & TUT 3k TURT & IR 4:5 F ATl F g, o SeTeht Fem$at & 47 JieareT gram ?

Options:
1)1:5

2) 4:25
3) 16:25

4) 25:64
Correct Answer: 25:64
Candidate Answer: [ NOT ANSWERED ]

Question 53.List price of TV is Rs. 2300 and discount series found to be 25% and 10%. Then the selling price of TV is

ey &, & g A Rs. 2300 § 3R 37 9 87 25% 31X 10% Y af fashar 7o aamse ?

Options:
1) Rs.1255.5

2) Rs.1525.5
3) Rs.1552.5

4) Rs.1555.2
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Correct Answer: Rs.1552.5
Candidate Answer: Rs.1552.5

Question 54.Ram is 20 years younger than Shyam. 5 years ago, the ratio of their age was 3:5. The sum of their present age is

T, 2T A 20 a9 DT §1 15 T Gd SeAehT 3 H 3:5 T ATl AT[SAT STHA TG HT AT IABT ?
Options:

1) 75 years

75 a§

2) 80 years

80 a¥

3) 90 years

90 I¥

4) 95 years

95 a¥

Correct Answer: 90 years

90 a¥

Candidate Answer: 90 years

90 ¥

Question 55.1If the loss of percent on article is 15%. Then the ratio of the cost price and sell price will be

Ffe el g uX 15% 1 g1 81 ot 38 5 7 3R TahT 7o &1 3T TR ?

Options:
1) 17:20

2) 20:17
3) 23:15

4) 15:23
Correct Answer: 20:17
Candidate Answer: 20:17

Question 56.1If A's salary is 40% less than that of B, then how much percent is B's salary more than that of A?

Ife A FT a0 B & IcTeT & 40% e & ol B T ddeT A & deT & fovcdey wfaera 3w & ?

Options:
1) 33%

2) 66%
3)33%

4) 665
Correct Answer: 66%
Candidate Answer: 66%

Question 57.Gautam goes to office at a speed of 12 kmph and returns home at 10 kmph.His average speed is

T 12 .30 /8T Y Tt ¥ FRiTT SaT § 3R 10 5.7 /6er 1 a1er & arag 31TdT | 39 3ad 1 9a1sv ?

Options:
1) 11

2)2
3) 10.9

4)12.5
Correct Answer: 10.9
Candidate Answer: 10.9

Question 58.
1
Ifx=3: -3

1
32 value of 3x> +9x is:

afg 3173 - 313 gr ar 3x3 + 9x T AR FAT g ?
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Options:
1)8

2)9
3)27
4) 16

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

Question 59.If xy (x + y) = m, then the value of X3 + y3 + 3m is:

I xy (x +y) = m e, arxd + y3 + 3m T & IaqET ?

Options:
1)

mﬂ;x}.

2)

m3.l'(x+_‘:)3

3)

mE,.'xE},-E

4)

3 3
iy

Correct Answer:

m3/xdyd
Candidate Answer: [ NOT ANSWERED ]

Question 60.Which of the following is a true statement?

Arfaf@d 7 & i arHuT W ?

Options:
1) Two similar triangles are always congruent.

& A ST Hel Hetras gl Bl

2) Two similar triangles have equal areas

2 g RSt &7 S T e Bl 8|

3) Two triangles are similar if their corresponding sides are proportional

e &Y Fegsit T ceaTedy 8=V JHTeTdifcieh &1 Y & Ueh FAWT gl |

4) Two polygons are similar if their corresponding sides are proportional

&Y SIgaST Ueh TN g9V AfE SAHT ey 3T HTogarics &l

Correct Answer: Two triangles are similar if their corresponding sides are proportional
I &) Fegoil Y Fecqedl ofsT JHTaTici &) &Y & Teh HHI gl

Candidate Answer: [ NOT ANSWERED ]

Question 61.In a triangle ABC, OB and OC are the bisectors of angles « B and 2C respectively. zBAC = 60°. Then the angle ~BOC will be

ABC 3377 3 OB 31T OC 5#: 10T 2B 3 0T £C & FZH1sT §1 £BAC = 600 81 Y £3I0T LBOC &7 HIeT &7 G ?

Options:
1) 150°

2) 120°
3) 100°

4) 90°
Correct Answer: 120°
Candidate Answer: [ NOT ANSWERED ]
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Question 62.

The value of (

S5inB+5ind Cos6 —Cosc}:) i
CosB+Cosd 5inB —5Sind

(Sz’ﬂﬁ+5:’ﬂ¢ CosB —Cosc[;) .
CosB+Cosd 5in® —Sing b :

Options:
11

2)2
3) %2

4)0
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 63.The least number that must be substracted from 63520 to make the result a perfect square is

TE eI FEdT fod A% 63520 3 ¥ e Se | IROTeT Taed o7 F97 &1 S0, 4T gl ?
Options:

1) 30

2) 24

3) 14

4) 16
Correct Answer: 16
Candidate Answer: 16

Question 64.Three years ago, the average age of a family of 5 members was 17 years. A baby having been born, the average age of the family is the same today.
The present age of the baby is

39 ggel 5 el atel U GRER Y 3l 3mg 17 a¥ | v R 1 ST 81 Sl o Gl 3T 3T 3 7€ &1 ) 1 it 3mg s ?
Options:

1) 2 years

29§

2) 2.4 years

2499

3) 3 years

3ay

4) 1.5 years

1.5a¢

Correct Answer: 2 years

239y

Candidate Answer: 2 years

29y

Question 65.

pr—i—é = 1,then the value of (p+ 2)*+ L

(p+2)°

—3is

S 3p 1
I p + e 1,8Tdr (p+2)3+ o T A A

Options:
1) 12

2)16
3)18

4) 15
Correct Answer: 15
Candidate Answer: [ NOT ANSWERED ]
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Question 66.

If 3a+4b = 3a-4b, then
3c+4d 3c-4d

_q_ﬁ:3a+4b e 3a—4b ET (_-|>F

3c+dd 3c—dd

Options:
1)ab=cd

2)ad =bc
3) ac = bd

4)a=b=c=#d
Correct Answer: ad = bc
Candidate Answer: [ NOT ANSWERED ]

Question 67.1f the difference between the measures of the two smaller angles of a right angled triangle is 8°, then the smallest angle is

mmwm%amma:mmwwmmammmmaﬁamm?

Options:
1) 37°

2) 41°
3) 420

4) 49°
Correct Answer: 41°
Candidate Answer: [ NOT ANSWERED ]

Question 68.Let O be the orthocentre of the triangle ABC. If .BOC = 150° Then £BAC is

AT FAfSTT 97T ABC &1 eaaheg: O 1 IfE 10T BOC = 1500 &1 Y HioT BAC T g1 ?

Options:
1) 30°

2) 60°
3) 90°

4) 120°

Correct Answer: 30°

Candidate Answer: [ NOT ANSWERED ]
Question 69.

55in6 8.
If Cotf = 4, then the value of 2o oo

5 5inB—3Cosé

aﬁ cotf = 4’ﬁ‘—_ﬁ‘w HT AT FITE7?

55inf-3 cos @

Options:
1)

1.,JrE

2) %
3)3

4)9
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

Question 70.In simple interest rate per annum a certain sum amounts to Rs. 5,182 in 2 years and Rs. 5,832 in 3 years. The principal in rupees is

IS T Y WUROT STeT hT AT &X 0% 2 a9 7 Rs. 5,182 87 el § 37X 3 a #¥ Rs. 5,832 &1 AT &1 Rs. 7 FteT IR0 ?
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Options:
1) Rs. 2882

2) Rs. 5000
3) Rs. 3882

4) Rs. 4000
Correct Answer: Rs. 3882
Candidate Answer: Rs. 3882

Question 71.A helicopter, at an altitude of 1500 m, finds that two ships are sailing towards it, in the same direction. The angles of depression of the ships as observed
from the helicopter are 60° and 30° respectively. Distance between the two ships, in metres is

1500 #HeX FTS U Teh olehice ST & T &1 Ui 3ehr 30 38T fa2 3 Toy 317 18 &1 Fehehioex & W STy W) Wit & 31aetdiet & avior sharer: 600 31 300 fewrs & &1 aeir
oYt & &, e #, gy AT ?

Options:
1)

10003

2)
1000/v3

3)
5003

4)
5003
Correct Answer:

1000V3
Candidate Answer: [ NOT ANSWERED ]

Question 72.The graph shows the monthly expenditure of a company (unit = 10 lakhs). Study the graph and answer the questions.

IH H R FaT=Y & AN oI Sl AT IRAT & | I I ETTT Hifoiw 3R Feafafad g2t & 3caz Sfeiw ?

50
80
0
z
3 50
5=
£ s0
53
52 40 g
g z u £ 3
=1 o Ee 8. @
[ = [ =
E 30 “ 1) @ - k]
5 g £ §F 2 3
£ g 5 2 &
20 5 = E =
= g = .o
L —e
10 |

Type of expenditure

The percentage of money spent on miscellaneous is

ﬁﬁumwﬁmﬁﬁamr@aﬂ;ﬁ?
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Options:
1)

7%

2)
17%/,

3)C
1335

4)C
9%,

Correct Answer: C'
1Y,

Candidate Answer: C'
1%,

Question 73.The graph shows the monthly expenditure of a company (unit = 10 lakhs). Study the graph and answer the questions.

I 3 TR FeTetl & ANl I T =T 3T & | I T T Hifolv 3R RAATAIBT 921 & 3ear JfSiv ?

%0
80
70
o
-
£
L s0
53
B a0 g
o B
E g 2 H i
o ™ [~ 1=
E 30 “ uEr (] e 8
. E = E £ B
20 = E i -3
g g 3 .
1) =12
10 |— I

Type of expenditure

The fraction of money spent on refreshments is

WWWWWW@%@&W?

Options:
1)

13Y,

2)
ZJJrE._'

3)
Vi

4) 10
Correct Answer:

2JJI-ET-
Candidate Answer:

13,
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Question 74.The graph shows the monthly expenditure of a company (unit = 10 lakhs). Study the graph and answer the questions.

6 & R el & A8 oI &l eRTAT 31T & | Il T HIfolv 3 R weall & 3cax Qfeiw ?

50
80
"0
o
3 60
S5
25 g0
5
%< 40 ]
o = w £ o
o —— L
g = [~ 8. =
E 30 [ 2 ] i 3
g =
4 g £ g = ]
20 3 g S = 5
g g 2 o
10 el = _u...

Type of expenditure

The total monthly expenditure of the company is

FEAT T Fool AT &7 fohclell & ?
Options:

1) 153 Lakhs

153 er@

2) 315 Lakhs

315 &g

3) 135 Lakhs

135 er@

4) 531 Lakhs

531 @

Correct Answer: 135 Lakhs
135 e

Candidate Answer: 135 Lakhs
135 e &

Question 75.The graph shows the monthly expenditure of a company (unit = 10 lakhs). Study the graph and answer the questions.

Ih & AT el & ARG oI &l eRITAT 31T | AT o T HIfolv 3 FEATART T2l & 3ea? Sfeiy ?

50
80
"0
o
3 60
S5
25 g0
5
%< 40 ]
o = w £ &
o —— L
g = [~ 8. =
E 30 [ 2 ] i 3
g =
4 g £ g = ]
20 3 g S = 5
g g 2 o
2 = I M,

Type of expenditure

The ratio between transport and employee salary on monthly basis is

Al TR T TRaee AR FHARE! & o & v 3T foraer § 2
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Options:
1) 1:4

2)4:3
3)3:4

4) 4:1
Correct Answer: 1:4
Candidate Answer: 1:4

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

IMPECCABLE

Options:

1) INOFFENSIVE

2) HARMLESS

3) IMPORTANT

4) FAULTLESS

Correct Answer: FAULTLESS

Candidate Answer: FAULTLESS

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

DISAVOWAL

Options:

1) REBUTTAL

2) REPEAL

3) APPROVAL

4) APPEAL

Correct Answer: APPROVAL

Candidate Answer: APPEAL

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Heirrarchy

2) Hierrarchy

3) Hierarchy

4) Heirarchy

Correct Answer: Hierarchy

Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

On being called, (A) / all of us (B) / entered into the room. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I waited for you (A) / but you never (B) / turned up. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: D

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He learnt (A) / the alphabets (B) / at the age of four. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A
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Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

By a single mean act, he out all his good deeds.
Options:

1) wiped

2) whipped

3) worked

4) whisked

Correct Answer: wiped
Candidate Answer: wiped

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I was conscious a break in my voice.
Options:

1) to

2) of

3) over

4) for

Correct Answer: of
Candidate Answer: for

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The young woman broke on hearing the news of her husband's death.
Options:

1) up

2) down

3) off

4)in

Correct Answer: down

Candidate Answer: down

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

All moonshine
Options:

1) Glowing

2) Far from reality
3) Celestial

4) About the moon

Correct Answer: Far from reality
Candidate Answer: Far from reality

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

At a snail's pace
Options:
1) Quietly
2) Quickly
3) Continuously
4) Slowly

Correct Answer: Slowly
Candidate Answer: Quietly

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Call on

Options:

1) Telephone

2) Seek help

3) Pay a visit

4) Order

Correct Answer: Pay a visit
Candidate Answer: Order

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who sets type for books, newspapers, etc.
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Options:
1) Typist
2) Editor
3) Composer
4) Compositor

Correct Answer: Compositor
Candidate Answer: Compositor

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Land covered by water on three sides
Options:

1) Island

2) Mainland

3) Strait

4) Peninsula

Correct Answer: Peninsula
Candidate Answer: Peninsula

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A drug or other substance that produces sleep
Options:

1) Soporific

2) Depressant

3) Narcotic

4) Antiseptic

Correct Answer: Soporific

Candidate Answer: Narcotic

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The rays of the sun that is setting glimmer like golden threads.
Options:

1) the sunset glimmers

2) the set sun glimmering

3) the setting sun glimmer

4) No improvement

Correct Answer: the setting sun glimmer

Candidate Answer: the setting sun glimmer

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Will you lend me few rupees for the taxi fare?
Options:

1) lend me any rupees

2) lend me a few rupees

3) borrow a few rupees

4) No improvement

Correct Answer: lend me a few rupees

Candidate Answer: lend me a few rupees

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The higher you climb a Himalayan peak, more cold you feel.
Options:

1) the colder

2) the most cold

3) colder

4) No improvement

Correct Answer: the colder

Candidate Answer: colder

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

They were all astonished at the team's dramatic success in the competition.
Options:

1) were astonished at all

2) had all astonished by

3) had been all astonished on

4) No improvement

Correct Answer: No improvement

Candidate Answer: had all astonished by
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Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She is bent to taking revenge against her attacker.
Options:

1) bent upon

2) bentin

3) bent for

4) No improvement

Correct Answer: bent upon

Candidate Answer: bent upon

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a time in every man's education when he arrives at the conviction that envy is ignorance; that imitation is suicide; that he must take himself for better, for
worse, as his portion; that though the wide universe is full of good, no kernel of nourishing corn can come to him but through his toil bestowed on that plot of ground
which is given to him to till. The power which resides in him is new in nature, and none but he knows what that is which he can do, nor does he know until he has
tried. Not for nothing one face, one character, one fact, makes much impression on him, and another none. This sculpture in the memory is not without pre-
established harmony. The eye was placed where one ray should fall, that it might testify of that particular ray. We but half express ourselves, and are ashamed of
that divine idea which each of us represents. It may be safely trusted as proportionate and of good issues, so it be faithfully imparted, but God will not have his work
made manifest by cowards. A man is relieved and gay when he has put his heart into his work and has done his best; but what he has said or done otherwise, shall
give him no peace. It is a deliverance which does not deliver. In the attempt his genius deserts him; no muse befriends; no invention, no hope.

Which of the following does the author appear to highlight in this essay?
Options:

1) Being contented with the status quo

2) Knowing oneself better

3) Working hard and sincerely

4) Waiting for better opportunities

Correct Answer: Working hard and sincerely
Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a time in every man's education when he arrives at the conviction that envy is ignorance; that imitation is suicide; that he must take himself for better, for
worse, as his portion; that though the wide universe is full of good, no kernel of nourishing corn can come to him but through his toil bestowed on that plot of ground
which is given to him to till. The power which resides in him is new in nature, and none but he knows what that is which he can do, nor does he know until he has
tried. Not for nothing one face, one character, one fact, makes much impression on him, and another none. This sculpture in the memory is not without pre-
established harmony. The eye was placed where one ray should fall, that it might testify of that particular ray. We but half express ourselves, and are ashamed of
that divine idea which each of us represents. It may be safely trusted as proportionate and of good issues, so it be faithfully imparted, but God will not have his work
made manifest by cowards. A man is relieved and gay when he has put his heart into his work and has done his best; but what he has said or done otherwise, shall
give him no peace. It is a deliverance which does not deliver. In the attempt his genius deserts him; no muse befriends; no invention, no hope.

When is a man relieved and gay?

Options:

1) When he has untapped potential

2) When he has put his heart into his work and has done his best
3) When destiny smiles at him

4) When he achieves his goal

Correct Answer: When he has put his heart into his work and has done his best
Candidate Answer: [ NOT ANSWERED ]

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a time in every man's education when he arrives at the conviction that envy is ignorance; that imitation is suicide; that he must take himself for better, for
worse, as his portion; that though the wide universe is full of good, no kernel of nourishing corn can come to him but through his toil bestowed on that plot of ground
which is given to him to till. The power which resides in him is new in nature, and none but he knows what that is which he can do, nor does he know until he has
tried. Not for nothing one face, one character, one fact, makes much impression on him, and another none. This sculpture in the memory is not without pre-
established harmony. The eye was placed where one ray should fall, that it might testify of that particular ray. We but half express ourselves, and are ashamed of
that divine idea which each of us represents. It may be safely trusted as proportionate and of good issues, so it be faithfully imparted, but God will not have his work
made manifest by cowards. A man is relieved and gay when he has put his heart into his work and has done his best; but what he has said or done otherwise, shall
give him no peace. It is a deliverance which does not deliver. In the attempt his genius deserts him; no muse befriends; no invention, no hope.

According to the author, God is not looking for to manifest his works.
Options:

1) Cowards

2) Stubborn people

3) Weaklings

4) All of these

Correct Answer: Cowards

Candidate Answer: Cowards
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Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a time in every man's education when he arrives at the conviction that envy is ignorance; that imitation is suicide; that he must take himself for better, for
worse, as his portion; that though the wide universe is full of good, no kernel of nourishing corn can come to him but through his toil bestowed on that plot of ground
which is given to him to till. The power which resides in him is new in nature, and none but he knows what that is which he can do, nor does he know until he has
tried. Not for nothing one face, one character, one fact, makes much impression on him, and another none. This sculpture in the memory is not without pre-
established harmony. The eye was placed where one ray should fall, that it might testify of that particular ray. We but half express ourselves, and are ashamed of
that divine idea which each of us represents. It may be safely trusted as proportionate and of good issues, so it be faithfully imparted, but God will not have his work
made manifest by cowards. A man is relieved and gay when he has put his heart into his work and has done his best; but what he has said or done otherwise, shall
give him no peace. It is a deliverance which does not deliver. In the attempt his genius deserts him; no muse befriends; no invention, no hope.

What is that which only the person himself knows and must act in order to discover it?
Options:

1) His untapped potential

2) His destiny that lies in the future

3) The power which resides in him

4) The joy of achieving success

Correct Answer: The power which resides in him
Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

There is a time in every man's education when he arrives at the conviction that envy is ignorance; that imitation is suicide; that he must take himself for better, for
worse, as his portion; that though the wide universe is full of good, no kernel of nourishing corn can come to him but through his toil bestowed on that plot of ground
which is given to him to till. The power which resides in him is new in nature, and none but he knows what that is which he can do, nor does he know until he has
tried. Not for nothing one face, one character, one fact, makes much impression on him, and another none. This sculpture in the memory is not without pre-
established harmony. The eye was placed where one ray should fall, that it might testify of that particular ray. We but half express ourselves, and are ashamed of
that divine idea which each of us represents. It may be safely trusted as proportionate and of good issues, so it be faithfully imparted, but God will not have his work
made manifest by cowards. A man is relieved and gay when he has put his heart into his work and has done his best; but what he has said or done otherwise, shall
give him no peace. It is a deliverance which does not deliver. In the attempt his genius deserts him; no muse befriends; no invention, no hope.

What does the word 'Manifest' mean?
Options:

1) Display

2) Hide

3) Shout

4) Try

Correct Answer: Display
Candidate Answer: Hide
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